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1 2 3 4 5=3+4
1. | Uwpbdwwnhlju 1-ht 1 481 060 (ULl Uhihnl snpu 0 1481 060 (ULl Uhihnl snpu
nuuwpuil, puuw- hwipnip nipuntidkl hwqup hwipnip nipuntudkl hwqup
ghpp-wnnbkwip Jupuntl) npud Jupuntl) npud
2. | Uupbdwnhlw 1-hu 946 400 (hup hwupnip 0 946 400 (hup hwupnip
nuuwpui, 2-pg dwu pwnuwuniiylg hwqun snpu pwnuwuniiiykg hwqun snpu
hwpjnip) npud hwpnip) npuad
3. | Uwpbkdwwnhlu 2-ny 418 300 (snpu hwpjnip 0 418 300 (snpu hwpjnip
nuuwpui, 1-ht dwu tnwulnip hmqup tpkp tnwulnip hwqup tpkp
hwpynip) npud hwpnip) gpund
4. | Uupbdwnhlju 2-py 418 300 (snpu hwpnip 0 418 300 (snpu hwpnip
nuuwpui, 2-pg dwu wnwubnip hwqup Epkp wnwubnip hwqup tpkp
hwpymp) npud hupymp) npud
5. | Uuqitipku 4-py 19 475 820 (nwutthup Uhjhntt 0 19 475 820 (nwuuthp
nuuwpui, 1-ht dwu snpu hwipjnip jnpuwbwunithhg Uhihnt snpu hwpnip
hwqup nnp hwupnip puwiy) mpwbwuntithhtig hmqup
npud nnp hwpnip puwi) ppud
6. | Uuqtpktu 4-ny 19 475 820 (nwutithip Uhihnt 0 19 475 820 (nwutithip Uhihnt
nuuwpuil, 2-p dwu snpu hwipnip jnpwbwunithhiq snpu hwipynip
hwqup nnp hwpnip puwi) mpwlwuntuhhig hmqup
npud nnp hwpnip puwb) npud
7. | Umptdwwnhlu 4-pny 378 400 (kptp hwipynip 0 378 400 (kptp hwipynip
nuuwpui, 1-ht dwu mpwlwuntunipe hwqup snpu mpwbwuntunip hwqup
hwpjnip) npud snpu hwipnip) npud
8. | Uwptdwwnhluw 4-pn 369 800 (kptp hwpynip 0 369 800 (kptp hwpynip
nuuwpui, 2-pg dwu Jupuniuhtp hwqup nip Jupuntuhtp hwqup nip
hwipynip) ngpud hwipynip) ngpud
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